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meer is from zero.

2 3 4

Comparing Integers

Integers are numbers without fractional parts. They can
be positive, negative, or zero. The further right a number
is on the number line, the greater it is.

The absolute value of a number is the distance the

ex: compadre with <, >, or =

-7

-7

|—9| < The absolute value

of -9=1

<14

~
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Quadrant III Quadrant IV

v

Ordered Pair: (x, y)

N

To graph a point on the
coordinate plane, start at
the origin. The first
number in the ordered pair
(the x-coordinate) tells you
how far left (if negative) or
right (if positive) to move.
The second number (the y-
coordinate) tells you how
far up (if positive) or down
(if negative) to move.

The Coordinate Plane
ex: Graph the point (-3, 2)
and state the quadrant

in which it is located.

Start at the origin, and move

LEFT 3 and UP 2

v

Quadrant 11

Perimeter, Area and Volume
- Perimeter of Any Polygon: add all side lengths

- Area of Triangle: A = %bh

- Area of Trapezoid: A = %h(b, +b,)

- Area of a Rectangle: A = lw

- Area of Parallelogram: A = bh

ex: Find the perimeter & area:

A
0

8 mm

1w

o
&

4 mm

Perimeter: P=5+8+5 + |L+=

\Volume of Rectangular Prism: V = lwh

Aread: This is a trapezoid, so use the drea of a trapezoid

[
formula: A = Eh (b; + byp)

The bases are the sides that are parallel, and the

height is perpendicular to the bases.

|
> A=) =

Ul mm?

/
N




Compare the integers with <, >, or =.

us. 4 () 5

to. 2 () -2

47. |-5] () |5l

4q. -3 ()4

50. I-71 () -6

sl -7 (-4

52. [-31(O)-2

st. =41 O el

Graph and label each of the ordered pairs in the coordinate plane. Then state the quadrant

or axis in/on which the point is located.

A

55. A2, 4) 56. B(0, -3)
57. C(I, -1) 58. D(3, 3)
59. E(-4, I) 60. F(2,0)
6l. 6(-3,-2) 62. H(-2, 3)
3. 10, 2) 4. J(-1, -4)

Find the perimeter, area, and/or volume of the given figure.

05. Find the perimeter & area:

/3
g Lo
0

12 cm

©b. Find the perimeter & area:

o
o O
/-IS' %

8in

©7. Find the perimeter & area:
|

©8. Find the perimeter & area:

g f1
& =
0 =
<

7 ft

©9. Find the area of a square
with a perimeter of 45 cm

70. Find the volume:

|
23 mm

3
G’E mm




4 . . . )
Evaluating Algebraic Expressions
: luatt 4y f
. Substitute the given numbers for the variables & evi\ iaqe SXJ: g or
2. Evaluate the expression using the order of operations

4o+ b(6)
K b+24 =

_ J
s

One-Step Addition & Subtraction Equations A
- Addition Equations: Subtract the number being added to the ex: ﬁ& +x=18
variable from both sides of the equation - LL:
X = |
- Subtraction Equations: Add the number being subtracted from  ex. 20 = ¢ -
the variable to both sides of the +5 +
K equation %=a > /
4 One-Step Multiplication & Division Equations )
- Muttiplication Equations: Divide both sides of the equation by ex:ﬁ;/b =28
the number next to the variable w7
- Division Equations: Multiply both sides of the equation by ex:%\g =105
the number under the variable ——

N /
/ Problem Solving N

. Read the problem. Identify the question that is being asked and the key information in
the problem.

2. Plan how you are going to solve the problem and estimate the answer-.

3. Solve the problem using the strategy of your choice.

4. Check your answer. Make sure your answer is reasonable dand compadre it to your

\estimate. Label your answer with appropriate units. /




Evaluate each expression for a=5,b=12,c¢=10, § d = 2.

71. 2b—a 72. d(ab —c) 73 340
) d
L 75. 202 —c 76. b—c+d
"b+ Ud
Solve each one-step equation.
77. g+ 3=17 78. r—6=7 74. Gb =18 50. 0 _ 4
. g =

&l. 5=f-38 82. 48 =12b 83. a+ 24 =283 4. 17 +x =123
85.10 = % 86. 8b5=Ff—7.63 87. % = 88. %h -




Solve each word problem using the method of your choice.

89. A fencing company charges $22 per foot to install | 90. A G inch-tall plant grew 34 of an inch one week

a wood fence. How much will it cost to install a and twice as much the following week. How tall is
wood fence around a rectangular pool area that is the plant now?
20 feet wide and 33 feet long?

q1. Jack can read W5 pages of his book in one and a 92. Brian ordered 3 large cheese pizzas and a salad.
half hours. At that rate, how long will it take him to The salad cost $4.95. If he spent a total of
read the entire 300-page book? $47.60 including the $5 tip, how much did each
pizza cost? (Assume there is no tox).

93. A cookie recipe calls for 3—4 cups of flour. The

recipe makes 3 dozen cookies. How much four is
needed to make 44 cookies?

94. Ella has a box of chocolate candies. She gives —é

of the candies to her sister, 4 to her brother, and
she eats the remaining 12 candies. How many
chocolate candies were in the box originally?




Solve each word problem using the method of your choice.

95. 20% of the 520 students in Wendover Middle 96. A piggy bank contains some dimes and nickels.
School were involved in school sports. Of those There are 8 more dimes than nickels in the bank.
students, 12.5% were on the wrestling team. How There is a total of $1.40. How many of each type
many students were on the wrestling team? of coin are in the bank?

97. An elevator in a tall building goes up 7 floors, then | 98. Jenna danced for 3 hours on Sunday, 2 hours on

down 9 floors, down 4 floors, up 8 floors, and Monday and Tuesday, | hour on Thursday, 1.5
down 2 floors. Now it is on floor 4. On what hours on Friday, and 2 hours on Saturday. She
floor did the elevator start? did not dance at all on Wednesday. What is the

average number of hours she danced each day?
Round your answer to the nearest tenth of an

hour-.
99. Jackie makes $15.25/hour babysitting. George 100. A box of 8 crayons costs $0.96. How much does
makes $18.50/hour mowing the lawn. If Jackie each crayon cost? At that unit price, how much
babysits for 4 hours and George mows lawns for would a box of 30 crayons cost?

3 hours, who makes more money? How much
more does he/she make?




